Installation Instruction
TOP JAMB

5300/5500 Series

Slide Track Door Closer

PUSH SIDE

CAUTION

AN INCORRECTLY INSTALLED OR IMPROPERLY
ADJUSTED DOOR CLOSER CAN CAUSE PROPE-—
RTY DAMAGE OR PERSONAL INJURY.

THESE INSTALLATION INSTRUCTIONS SHOULD
BE FOLLOWED TO AVOID THE POSSIBILITY OF
MISAPPLICATION OR MISADJUSTMENT.

PUSH SIDE

NOILNVO

Spring Power

| Stmg )

z

Left Hand Door - LH
Right Hand Reverse - RHR

Spring Power
Adjusting Nut

Right Hand Door - RH
Left Hand Reverse - LHR

* INSTALLATION INSTRUCTIONS |

* INSTALLATION INSTRUCTIONS |

|I| ¢ Use diagram to locate holes on door and frame:
4 on frame for body
2 on door for track assembly.

> L 305

>
< > >

<25 Dill or
1/4x20TAP

53

T‘/ 24 Dill or M5x0.8TAP

75 466

1
<
<

|I| ¢ Use diagram to locate holes on door and frame:

4 on frame for body
2 on door for track assembly.

305

L 4 @5 Dill or
1/4x20TAP

A N

26 !

e I T ¥
@4 Dill or M5x0.8TAP ‘ I

« 466 AR

- o "

¢ Hold-Open: Slider, Stopper, Side cap in to the track.
* Non Hold-Open: Slider, Side cap in to the track.

¢ Hold-Open: Slider, Stopper, Side cap in to the track.
* Non Hold-Open: Slider, Side cap in to the track.

Slider % = Stider
Side cap ide cap
> S %
s\\ﬁ ./‘/‘/ B, [(CAUTION CAUTION DY
H/ -1 = /@” DIRECTION DIRECTION | [9] S
~  Stopper @ and and _ 9 Stopper
(OPTIONAL) 'S SEQUENCE SEQUENCE - (OPTIONAL)
E ¢ Install the body to the frame. E ¢ Install the body to the frame.
Install the track assembly to the door. Install the assembly track to the door.
= = .
. . Bod o |
° °| ody Body C ° i
_________ ZE"____________________________‘\ /‘___________________________lﬁi_________.l
B Eaiaiaieiainintatataiaisinint ] ettt ieieieieiteteteieteteiei LI
(2] ) ot
Track assembly Track assembly Tf

El ¢ Install main arm to pinion shaft, see Figure 1.
e Set the main arm and the slider, see Figure 2.

Main Arm

Figure 1

El ¢ Install main arm to pinion shaft, see Figure 1.
e Set the main arm and the slider, see Figure 2.

Figure 1 Figure 2

E ¢ Adjust Hold-Open angle and speed, power.
¢ Install cover to the body

% See back page for closer adjustment.

E ¢ Adjust Hold-Open angle and speed, power.
¢ Install cover to the body .

% See back page for closer adjustment.




Installation

STANDARD

Instruction  5300/5500 Series

Slide Track Door Closer

SPRING POWER ADJUSTMENT c'cw. : couner cLockwise

C.W. : CLOCKWISE

PULL SIDE APPLICABLE DOOR LEAF PULL SIDE
DOOR | CLOCKWISE WIDTH APPLICABLE
CLOSER | TURNSOF = —— = exrenion DOOR
SIZE | ADJUSTING NUT swineoun) | WEIGHT
. . 33~66 LBS
1 5 Turns C.C.W. [ 32" (0.81m) | 28" (0.71m) 115~30Ka)
.c.w.| 36" (0. " (0.81 66~99LBS
2 |3Tums C.CW. (36" (0.91m) [32° (0.81m) | 6E-99LES
3 PRESET  |42° (1.07m) 36" (0.91m) | 99-143LBS
S| (1.07m) (0.91m) (45-55Ka)
4 3Turns C.W. |48" (1.22m) 42" (1.07m) | 143-187LBS
(65~85Ka)
Right Hand Door - RH 5 7 Turns C.W. [54” (1.37m) 48" (1.22m) ‘(‘;?5:212“‘)"25)3 Left Hand Door - LH
Left Hand Reverse - LHR B B 264~330 LBS Right Hand Reverse - RHR
6 11 Turns C.W. |58° (1.47m) | 547 (1.37m) | 257330 LBS

* INSTALLATION INSTRUCTIONS |

|I| e Use diagram to locate holes on door and frame:

4 on door for body.
53
26 I

3‘\ 24 Dill or M5x0.8TAP

<25 Dill or
1/4x20TAP

305

>
>

* INSTALLATION INSTRUCTIONS |

|I| ¢ Use diagram to locate holes on door and frame:
4 on door for body.
2 on frame for track assembly.
466

24 Dill or M5x0.8TAP /'+

74

¢
<

53

26 |

@5 Dill or
1/4x20TAP

305

—

K

75

»le
i<

o
»

<
<

q:_ 2 on frame for track assembly.

74 466
¢ Hold-Open: Slider, Stopper, Side cap in to the track.
¢ Non Hold-Open: Slider, Side cap in to the track.

[2]

@ « Hold-Open: Slider, Stopper, Side cap in to the track.
* Non Hold-Open: Slider, Side cap in to the track.

Side cap  Stopper CAUTION CAUTION Stopper Side cap
(OPTIONAL) | b pecTION || || DIRECTION (OPTIONAL) :
b SR SEQUENCE SEQUENCE PN
S ffe)
S [
Track Track
E ¢ Install the track assembly to the frame. E ¢ Install the track assembly to the frame.
Install the body to the door. Install the body to the door.
| =2 ) |
i p—————————— 7= o) , . o —— —— 7~ ] i
= : : =
ii [ ] ® [ ] (] ii
EHE hd - d Track assembly Track assembly hd _ ° EHE
f Body Body

III ¢ Install main arm to pinion shaft, see Figure 1.
e Set the main arm and the slider, see Figure 2.

5 g 45°
Main Arm

Figure 1

¢ Adjust Hold-Open angle and speed,
power.
¢ Install cover to the body

III ¢ Install main arm to pinion shaft, see Figure 1.
e Set the main arm and the slider, see Figure 2.

Figure 1

=1

s

Figure 2

¢ Adjust Hold-Open angle and speed,
power.
¢ Install cover to the body

CLOSER ADJUSTMENT | Saring Power
'

P ——

LATCH SWEEP Optional BACKCHECK

SPEED SPEED DELEYED ACTION CONTROL

Closing cycle Opening cycle
& 0 Ll
I8 -
o \\\\4\ Fast & \\“_\04. Decrease
g/ ©
(N \“ @ & \\‘

gl RS 1 Increase
el AR Slow pomm oS




